TEMRE (HEBIRE) D) 11, 200, 000
TR L EA R (HEBIBRE) 8,910, 000
ALFAE (BAFTMEELSXN nEX) )
1. 4 A3 04K 2 5 8 B RIEMM X BRI T fif PO SE N B kA e B[] S e . B AR HAR T B R R R4 IiF BR A
BEiE2i 17
X AT B
2. FUBEBTT Ik E S T
RV =1 B4 Iz B[S E S TR B R AR AR R K4 K& REZ A
3. AMLEW  FR304F 6A20H 10005
. % 18] % 2 [ % 310
E=:2 (;\T) ARG %1 filitk 5% (C) S ARt %1 filitk A% (C) P AFLAGRE %1 filifs 5 (C) R 5 %
(B) 60% {1-(B) / (D)} W + © (B) 60% {1-(B)/ (D)} 0 + (© (B) 60 % {1-(B)/ (D)} ) + (©

(BR) BB BATIFIERT 43 8,910, 000 12. 2678 55. 2678 — — — - - -

(Bk) AV ashLr sy 48 8,910, 000 12. 2678 60. 2678 - — — — - -

() =a2—Y=v7 - FLI) - — — — — — - -
WToH (BF) 43 8, 910, 000 12. 2678 55. 2678 — — — — — -

(B EXR 42 8,910, 000 12. 2678 54. 2678 — — — - - -
hiem gLy (R 44 8,910, 000 12. 2678 56. 2678 — — — - - -

(BR) ntEgka vz v b 44 10, 000, 000 6. 4285 50. 4285 - — — — - -
v hIar L (BR) 45 8,910, 000 12. 2678 57. 2678 — — — - - -
KBS LE b (R 54 9, 050, 000 11.5178 65.5178 — — — - - -

(BF) UrRExE 32 8,910, 000 12. 2678 44. 2678 — — — - - -

T TITN . B - _ - - - % #
(BR) frfdfias s b 56 8,910, 000 12. 2678 68. 2678 (FR30% 65228)
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Pl s 5RO ER (e & SEEE AL A=)

HATEI (FHTE) HiTREE BITRESRIEEEM
HEEH (%) p=—s -
EEHERE B s
et BWE | it metll ||| BF
(A) (B) || AflEm 2% | ) | EBiITHE i (| A
&S BEXIEET ~ : e T HE| RIS H| T R=HE | 2 A e
EREAE | o BHRUTF . . mEE | - Bl e ) | hEE
2 4 2 2 -2 10 3 3 10 2 2 20 15 15 30 | 1.00 30 60
1 () BB INBIR AT 2 3 2 2 — 9 3 3 6 - 2 14 11 9 20 1.00 20 43
2 AV LIy 2 4 2 2 — 10 3 1 7 1 2 14 15 9 24 1.00 24 48
3 #H) =—a—Txvy 2 4 2 2 - 10 3 3 0 - 2 8 11 9 20 — — —
4 LWCH ) 2 4 2 2 — 10 3 3 8 - 2 16 11 6 17 1.00 17 43
5 HEX 2 3 2 2 - 9 3 3 8 - 2 16 11 6 17 1.00 17 42
6 ha 4 Lasy () 2 3 2 2 — 9 3 3 7 - 2 15 11 9 20 1.00 20 44
7 (B HRBEa Y IILI - 2 4 2 2 - 10 3 1 7 2 2 15 7 12 19 1.00 19 44
8 RS FILEL R (BR) 2 4 2 2 - 10 3 3 7 — 2 15 11 9 20 1.00 20 45
9 KB HILZ ) 2 4 2 2 - 10 3 3 8 1 2 17 15 12 27 1.00 27 54
10 (B EACERET 2 2 - 2 — 6 3 3 6 — 2 14 3 9 12 1.00 12 32
11 R EaEfazT et 2 4 2 2 — 10 3 3 8 — 2 16 15 15 30 1.00 30 56




